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Adding vectors
In one dimension:

a)	+	        =
	5N		1N	6N

b)	+	        =
	5N		1N	4N	

i.e.
a) 5N + 1N = 6N
b) 5N + (-1N) = 5N – 1N = 4N

Resultant Vectors
Finding the resultant velocity P from an object given a horizontal velocity (right) Vh and a vertical velocity (down) Vv. Firstly a vector diagram is drawn.
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Finding the magnitude of P
Using Pythagoras’ theorem that the square of the 2 sides of a triangle equal the square of the hypotenuse, (a2 + b2 = c2)
Therefore:
Vh2 + Vv2 = P2
So, P = √(Vh2 + Vv2)
